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Private Sub Commandl Click()
Timerl.Enabled = True
End Sub

Private Sub Command2_ Click()
End
End Sub
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Set xmlob_] et = EreateDbJect(”MS}{M]_}Z Server AMLHITE” J * phIh
strlirl = “http: /192 165, 100. 7:5050/1astmessazeTtopi c=IFRabot/monzeandkeybor adbiname=si otéipwd=dfrobot” ' [HF RS 5
xmlobject. open “GET", =trirl, Falsze
umlabject. zend
If xzmlobject. BeadyState = 4 Then
responseStr = xmlobject. responzeText ' IR EERITSORAEE Fih0 i code” 1, “data”: [{"ID": 102, “Topie”: “IFRabat/mans
posl = InStr(l, responseStr, searchl, 1) !
posZ = InStr (1, responseStr, search, 1)
mzz = Midirespon=zeSty, posl + 10, pos? — 3 - posl - 10) CEENFER s ot BTN

pesIDl = InStr(l, respenzeStr, =zearchIDl, 1)
poeslD2 = InStr(l, respenseStr, searchIDZ, 1)
ID = Mid(responzeStr, pnsIIIl + 4, posIDZ - 3 - posID
If ID < Ilpre Then BJ%J.EIE_?E@JE’] ﬁ%?mﬂ—mﬁ%: EEWIERID: IrezzRTEE
Ilpre = I
Rem jR/EIE{E
If msg = "LEFT" Then
SendKeys “{LEFT}"
Elself msg = “BIGHT" Then
SendKeysz “{RIGHT}"
ElzeIf msg = “IF" Then
SendKeys “{UP}”
Elzelf m=z = “DOWN" Then
SendKeys " {DOWH}"
Elzelf m=g = “F5" Then
SendKeys “{F51"
Elzelf mzg = “ESCY Then
SendKeys “{ESC}"
Elzelf msg = “ENTER" Then
SendKeysz “{ENTER}"
End If

End If

End If
Zet umlobject = Hothing



